Journal of Analysis & Number Theory An International Journal

http://dx.doi.org/10.12785/jant/030105

An Explicit Formula for Bernoulli Numbers in Terms of Stirling Numbers of the Second Kind

Bai-Ni Guo^{1,*} and Feng Qi^{2,3,*}

Received: 12 Aug. 2014, Revised: 29 Aug. 2014, Accepted: 2 Sep. 2014

Published online: 1 Jan. 2015

Abstract: In the paper, the authors recover an explicit formula for computing Bernoulli numbers in terms of Stirling numbers of the second kind.

Keywords: explicit formula; Bernoulli number; Stirling number of the second kind; Bell polynomial of the second kind

1 Introduction

It is well known that Bernoulli numbers B_k for $k \ge 0$ may be generated by

$$\frac{x}{e^x - 1} = \sum_{k=0}^{\infty} B_k \frac{x^k}{k!} = 1 - \frac{x}{2} + \sum_{k=1}^{\infty} B_{2k} \frac{x^{2k}}{(2k)!}$$
 (1)

for $|x| < 2\pi$. See [1, p. 48]. In combinatorics, Stirling numbers of the second kind S(n,k) for $n \ge k \ge 0$ may be computed by

$$S(n,k) = \frac{1}{k!} \sum_{\ell=0}^{k} (-1)^{k-\ell} \binom{k}{\ell} \ell^n$$
 (2)

and may be generated by

$$\frac{(e^x - 1)^k}{k!} = \sum_{n=k}^{\infty} S(n, k) \frac{x^n}{n!}, \quad k \in \{0\} \cup \mathbb{N}.$$
 (3)

See [1, p. 206]. Bell polynomials of the second kind $B_{n,k}(x_1, x_2, \dots, x_{n-k+1})$ are defined by

$$\mathbf{B}_{n,k}(x_1,\dots,x_{n-k+1}) = \sum_{\substack{1 \le i \le n, \ell_i \in \mathbb{N} \\ \sum_{i=1}^n i \ell_i = n \\ \sum_{i=1}^n \ell_i = k}} \frac{n!}{\prod_{i=1}^{n-k+1} \ell_i!} \prod_{i=1}^{n-k+1} \left(\frac{x_i}{i!}\right)^{\ell_i}$$

for $n \ge k \ge 1$, See [1, p. 134, Theorem A].

The aim of this paper is to recover an explicit formula for computing Bernoulli numbers B_n in terms of Stirling numbers of the second kind S(n,k).

The main results may be summarized as the following theorem.

Theorem 1 For n > k > 0, we have

$$B_{n,k}(0,1,\ldots,1) = \sum_{i=0}^{k} (-1)^{i} \binom{n}{i} S(n-i,k-i)$$
 (4)

and

$$B_{n,k}\left(\frac{1}{2}, \frac{1}{3}, \dots, \frac{1}{n-k+2}\right)$$

$$= \frac{n!}{(n+k)!} \sum_{i=0}^{k} (-1)^{k-i} \binom{n+k}{k-i} S(n+i,i). \quad (5)$$

For $n \ge 0$, we have

$$B_n = \sum_{i=0}^{n} (-1)^i \frac{\binom{n+1}{i+1}}{\binom{n+i}{i}} S(n+i,i).$$
 (6)

2 Proof of Theorem 1

In combinatorics, Faà di Bruno formula may be described in terms of Bell polynomials of the second kind

¹ School of Mathematics and Informatics, Henan Polytechnic University, Jiaozuo City, Henan Province, 454010, China

² College of Mathematics, Inner Mongolia University for Nationalities, Tongliao City, Inner Mongolia Autonomous Region, 028043, China

³ Department of Mathematics, College of Science, Tianjin Polytechnic University, Tianjin City, 300387, China

^{*} Corresponding author e-mail: bai.ni.guo@gmail.com, bai.ni.guo@hotmail.com, qifeng618@gmail.com, qifeng618@hotmail.com



 $B_{n,k}(x_1,x_2,\ldots,x_{n-k+1})$ by

$$\frac{d^{n}}{dx^{n}}f \circ g(x)
= \sum_{k=1}^{n} f^{(k)}(g(x))B_{n,k}(g'(x), g''(x), \dots, g^{(n-k+1)}(x)).$$
(7)

See [1, p. 139, Theorem C]. It is easy to see that

$$\frac{x}{e^x - 1} = \frac{1}{\int_0^1 e^{xt} \, \mathrm{d}t}.$$

Applying in (7) the functions $f(y) = \frac{1}{y}$ and y = g(x) = $\int_0^1 e^{xt} dt$ results in

$$\frac{d^{n}}{dx^{n}} \left(\frac{x}{e^{x}-1}\right) = \frac{d^{n}}{dx^{n}} \left(\frac{1}{\int_{0}^{1} e^{xt} dt}\right)$$

$$= \sum_{k=1}^{n} (-1)^{k} \frac{k!}{\left(\int_{0}^{1} e^{xt} dt\right)^{k+1}}$$

$$\times B_{n,k} \left(\int_{0}^{1} t e^{xt} dt, \int_{0}^{1} t^{2} e^{xt} dt, \dots, \int_{0}^{1} t^{n-k+1} e^{xt} dt\right)$$

$$\to \sum_{k=1}^{n} (-1)^{k} k! B_{n,k} \left(\int_{0}^{1} t dt, \int_{0}^{1} t^{2} dt, \dots, \int_{0}^{1} t^{n-k+1} dt\right)$$

$$= \sum_{k=1}^{n} (-1)^{k} k! B_{n,k} \left(\frac{1}{2}, \frac{1}{3}, \dots, \frac{1}{n-k+2}\right)$$

as $x \to 0$. On the other hand, differentiating *n* times on both sides of (1) leads to

$$\frac{\mathrm{d}^n}{\mathrm{d}x^n}\left(\frac{x}{e^x-1}\right) = \sum_{k=n}^{\infty} B_k \frac{x^{k-n}}{(k-n)!} \to B_n, \quad x \to 0.$$

As a result, we obtain

$$B_n = \sum_{k=1}^{n} (-1)^k k! B_{n,k} \left(\frac{1}{2}, \frac{1}{3}, \dots, \frac{1}{n-k+2} \right).$$
 (8)

In [1, p. 133], it was listed that

$$\frac{1}{k!} \left(\sum_{m=1}^{\infty} x_m \frac{t^m}{m!} \right)^k = \sum_{n=k}^{\infty} B_{n,k}(x_1, x_2, \dots, x_{n-k+1}) \frac{t^n}{n!}$$
 (9)

for $n \ge k \ge 0$. Letting $x_1 = 0$ and $x_m = 1$ for $m \ge 2$ in (9) and employing (3) give

$$\begin{split} \sum_{n=k}^{\infty} \mathbf{B}_{n,k}(0,1,\ldots,1) \frac{t^n}{n!} &= \frac{1}{k!} \left(\sum_{m=2}^{\infty} \frac{t^m}{m!} \right)^k = \frac{1}{k!} (e^t - 1 - t)^k \\ &= \frac{1}{k!} \sum_{i=0}^k (-1)^{k-i} \binom{k}{i} (e^t - 1)^i t^{k-i} \\ &= \sum_{i=0}^k \frac{(-1)^{k-i}}{(k-i)!} \sum_{i=0}^{\infty} S(j,i) \frac{t^{k+j-i}}{i!}. \end{split}$$

This implies that

$$B_{n,k}(0,1,\ldots,1) = n! \sum_{i=0}^{k} \frac{(-1)^{k-i}}{(k-i)!} \frac{S(n-k+i,i)}{(n-k+i)!}$$
$$= \sum_{i=0}^{k} (-1)^{k-i} \binom{n}{k-i} S(n-k+i,i)$$
$$= \sum_{i=0}^{k} (-1)^{i} \binom{n}{i} S(n-i,k-i).$$

The formula (4) follows.

By virtue of

$$B_{n,k}\left(\frac{x_2}{2}, \frac{x_3}{3}, \dots, \frac{x_{n-k+2}}{n-k+2}\right) = \frac{n!}{(n+k)!} B_{n+k,k}(0, x_2, \dots, x_{n+1}),$$

see [1, p. 136], and the formula (4), we obtain

$$B_{n,k}\left(\frac{1}{2}, \frac{1}{3}, \dots, \frac{1}{n-k+2}\right)$$

$$= \frac{n!}{(n+k)!} B_{n+k,k}(0, 1, \dots, 1)$$

$$= \frac{n!}{(n+k)!} \sum_{i=0}^{k} (-1)^{i} \binom{n+k}{i} S(n+k-i, k-i),$$

from which, the formula (5) follows.

Substituting (5) into (8) leads to

$$B_{n} = \sum_{k=1}^{n} \frac{k! n!}{(n+k)!} \sum_{i=0}^{k} (-1)^{i} \binom{n+k}{k-i} S(n+i,i)$$

$$= \sum_{k=1}^{n} \sum_{i=0}^{k} (-1)^{i} \frac{\binom{k}{i}}{\binom{n+i}{i}} S(n+i,i)$$

$$= \sum_{i=0}^{n} \frac{(-1)^{i}}{\binom{n+i}{i}} S(n+i,i) \sum_{k=i}^{n} \binom{k}{i}$$

$$= \sum_{i=0}^{n} \frac{(-1)^{i}}{\binom{n+i}{i}} \binom{n+1}{i+1} S(n+i,i),$$

which may be rewritten as the formula (6). The proof of Theorem 1 is complete.

3 Remarks

Finally we list several remarks on something to do with our main results.

Remark 1 The formula (5) may be alternatively proved as follows.



Taking $x_m = \frac{1}{m+1}$ for all $m \in \mathbb{N}$ in (9) and utilizing (3) yield

$$\sum_{n=k}^{\infty} B_{n,k} \left(\frac{1}{2}, \frac{1}{3}, \dots, \frac{1}{n-k+2} \right) \frac{t^n}{n!} = \frac{1}{k!} \left[\sum_{m=1}^{\infty} \frac{t^m}{(m+1)!} \right]^k$$

$$= \frac{1}{k!} \left(\frac{e^t - 1 - t}{t} \right)^k = \frac{1}{k!} \left(\frac{e^t - 1}{t} - 1 \right)^k$$

$$= \frac{1}{k!} \sum_{\ell=0}^{k} (-1)^{k-\ell} \binom{k}{\ell} \left(\frac{e^t - 1}{t} \right)^{\ell}$$

$$= \frac{1}{k!} \sum_{\ell=0}^{k} (-1)^{k-\ell} \binom{k}{\ell} \frac{\ell!}{t^{\ell}} \sum_{i=\ell}^{\infty} S(i, \ell) \frac{t^i}{i!}$$

$$= \sum_{\ell=0}^{k} \frac{(-1)^{k-\ell}}{(k-\ell)!} \sum_{i=\ell}^{\infty} S(i, \ell) \frac{t^{i-\ell}}{i!}.$$

This implies that

$$B_{n,k}\left(\frac{1}{2}, \frac{1}{3}, \dots, \frac{1}{n-k+2}\right)$$

$$= n! \sum_{\ell=0}^{k} \frac{(-1)^{k-\ell}}{(k-\ell)!(n+\ell)!} S(n+\ell,\ell).$$

The formula (5) follows.

Remark 2 In [1, p. 220] and [3, pp. 559–560], the following explicit formula for computing Bernoulli numbers B_n in terms of Stirling numbers of the second kind S(n,k) was presented: For $n \ge 0$, we have

$$B_n = \sum_{k=0}^{n} (-1)^k \frac{k!}{k+1} S(n,k).$$
 (10)

Recently, four alternative proofs for the formula (10) were supplied in [4] and [11].

The first formula for Bernoulli numbers B_n listed in [2] is

$$B_n = \sum_{k=0}^n \frac{1}{k+1} \sum_{j=0}^k (-1)^j \binom{k}{j} j^n, \quad n \ge 0,$$
 (11)

which is a special case of the general formula [8, (2.5)]. We observe that the formula (11) is equivalent to the one (10). In all, we may collect at least seven alternative proofs for the formula (10) or (11) in the references [2], [3], [4], [8], and [11].

Remark 3*In* [6, p. 1128, Corollary], among other things, it was found that, for $k \ge 1$,

$$B_{2k} = \frac{1}{2} - \frac{1}{2k+1} - 2k \sum_{i=1}^{k-1} \frac{A_{2(k-i)}}{2(k-i)+1},$$
 (12)

where A_m is defined by

$$\sum_{m=1}^{n} m^k = \sum_{m=0}^{k+1} A_m n^m.$$

In [5, Theorem 3.1], it was presented that Bernoulli numbers B_{2k} may be computed by

$$B_{2k} = 1 + \sum_{m=1}^{2k-1} \frac{S(2k+1, m+1)S(2k, 2k-m)}{\binom{2k}{m}} - \frac{2k}{2k+1} \sum_{m=1}^{2k} \frac{S(2k, m)S(2k+1, 2k-m+1)}{\binom{2k}{m-1}}$$
(13)

for $k \in \mathbb{N}$. In [10, Theorem 1.4], among other things, it was discovered that

$$B_{2k} = \frac{(-1)^{k-1}k}{2^{2k-2}(2^{2k}-1)} \sum_{i=0}^{k-1} \sum_{\ell=0}^{k-i-1} (-1)^{i+\ell} \binom{2k}{\ell} (k-i-\ell)^{2k-1}.$$

for $n \in \mathbb{N}$.

Remark 4 The object of the paper [2], motivated by the paper [8], is to set matters straight by presenting a bibliography, including 33 references, on explicit formulas for Bernoulli numbers and to show how one can easily manufacture expressions for Bernoulli numbers.

In [2, p. 48, (11)], it was deduced that

$$B_n = \sum_{j=0}^{n} (-1)^j \binom{n+1}{j+1} \frac{n!}{(n+j)!} \sum_{k=0}^{j} (-1)^{j-k} \binom{j}{k} k^{n+j}$$

for $n \ge 0$. This may be rearranged as the form of the formula (6).

On 21 January 2014, the authors searched out that the formula (6) was ever derived in [7, p. 59] and [13, p. 140] by different tools from Faà di Bruno formula (7).

For more information on the history and literature of explicit formulas for computing Bernoulli numbers, please refer to [2], [7], [8], [12], and [13] and plenty references therein.

Remark 5 This paper is a revised version of the preprint [9].

Acknowledgements

The authors thank Dr Ai-Min Xu in China and Dr Vladimir Kruchinin in Russia for their sending variants of the formula (5) through e-mail on 16 and 17 October 2013, thanks Dr Armen Bagdasaryan in Russia for his pointing out through ResearchGate on 17 October 2013, when this manuscript was completed, the formula (5) appearing in the paper [14], thanks Professor Juan B. Gil in USA for his providing the formula (5) through e-mail on 24 October 2013, and thanks Professor Ira Gessel in USA for his sending an electronic copy of the paper [2] through e-mail on 21 January 2014.



References

- L. Comtet, Advanced Combinatorics: The Art of Finite and Infinite Expansions, Revised and Enlarged Edition, D. Reidel Publishing Co., Dordrecht and Boston, 1974.
- [2] H. W. Gould, *Explicit formulas for Bernoulli numbers*, Amer. Math. Monthly **79** (1972), 44–51.
- [3] R. L. Graham, D. E. Knuth, and O. Patashnik, Concrete Mathematics—A Foundation for Computer Science, 2nd ed., Addison-Wesley Publishing Company, Reading, MA, 1994.
- [4] B.-N. Guo and F. Qi, Alternative proofs of a formula for Bernoulli numbers in terms of Stirling numbers, Analysis (Berlin) 34 (2014), no. 2, 187–193; Available online at http://dx.doi.org/10.1515/anly-2012-1238.
- [5] B.-N. Guo and F. Qi, Some identities and an explicit formula for Bernoulli and Stirling numbers, J. Comput. Appl. Math. 255 (2014), 568–579; Available online at http://dx.doi.org/10.1016/j.cam.2013.06.020.
- [6] S.-L. Guo and F. Qi, *Recursion formulae for* $\sum_{m=1}^{n} m^k$, Z. Anal. Anwendungen **18** (1999), no. 4, 1123–1130; Available online at http://dx.doi.org/10.4171/ZAA/933.
- [7] S. Jeong, M.-S. Kim, and J.-W. Son, On explicit formulae for Bernoulli numbers and their counterparts in positive characteristic, J. Number Theory 113 (2005), no. 1, 53–68; Available online at http://dx.doi.org/10.1016/j.jnt.2004.08.013.
- [8] J. Higgins, Double series for the Bernoulli and Euler numbers, J. London Math. Soc. 2nd Ser. 2 (1970), 722–726; Available online at http://dx.doi.org/10.1112/jlms/2.Part_4.722.
- [9] F. Qi, An explicit formula for Bernoulli numbers in terms of Stirling numbers of the second kind, available online at http://arxiv.org/abs/1401.4255.
- [10] F. Qi, Explicit formulas for derivatives of tangent and cotangent and for Bernoulli and other numbers, available online at http://arxiv.org/abs/1202.1205.
- [11] F. Qi and B.-N. Guo, *Alternative proofs of a formula for Bernoulli numbers in terms of Stirling numbers*, Analysis (Berlin) **34** (2014), no. 3, 311–317; Available online at http://dx.doi.org/10.1515/anly-2014-0003.
- [12] L. Saalschütz, Vorlesungen über die Bernoulli'schen Zahlen, ihren Zusammenhang mit den Secanten-Coefficienten und ihre wichtigeren Anwendungen, Berlin, 1893. Available since 1964 in Xerographed form from University Microfilms, Ann Arbor, Michigan. Order No. OP-17136.
- [13] S. Shirai and K.-I. Sato, *Some identities involving Bernoulli and Stirling numbers*, J. Number Theory **90** (2001), no. 1, 130–142; Available online at http://dx.doi.org/10.1006/jnth.2001.2659.
- [14] Z.-Z. Zhang and J.-Z. Yang, Notes on some identities related to the partial Bell polynomials, Tamsui Oxf. J. Inf. Math. Sci. 28 (2012), no. 1, 39–48.



Bai-Ni Guo is a full Professor in Mathematics at Henan Polytechnic University and received the Bachelor degree in Mathematics for Education at Henan Normal University in China. Her research interests are in the

areas of mathematical inequalities and means, special functions, combinatorics, number theory, and the like. She has published research articles in reputed international journals of mathematics. She is referees and editors of several mathematical journals.



Feng Qi is a full Professor in Mathematics Tianjin Polytechnic Henan University and Polytechnic University in China. He was the Founder and the former Head of School of Mathematics and Informatics at Henan

Polytechnic University. He was ever a Visiting Professor at Victoria University in Australia, University of Hong Kong, Henan University, Henan Normal University, and Inner Mongolia University for Nationalities in China. He received his PhD degree of Science in Mathematics from University of Science and Technology of China. He is Editors of several international journals. He has published over 400 research articles in reputed international journals. His research interests include the classical analysis, combinatorics, special functions, mathematical inequalities, mathematical integral transforms, complex functions, number theory, differential geometry, and mathematical education at universities. For more information, please see his home page at http://qifeng618.wordpress.com and related links therein.